NG 2 IR 505 3 O ABSREOHR (£F)

(R mHM %)

FET-AT 245 254 264 214 284 290F9H | 294F10H | 29%E11H | 294124 304E1LA 304F2H AR A
7 T 2,299 7,703 1414 7,198 1,024 71 77 60 55| r 67 64 73
(HTAEFEIH (H) k) (A 9.1) (A 25.9) (A 17.0) (A 15.3) (A 14.5) (2.8) (8.5) (1.5) (A45.00[r (A 6.9) (A 12.3) (A 12.0)
PV YT 533,042 375913 317,796 206,043 206,677 27,945 30,433 13,706 17,703 r 10,170 15,347 12,061
(HTAEFEIH (H) k) (A 16.8) (A 29.5) (A 15.5) (A 6.8) (A 30.2) (70.3) (161.3) (A 13.1) (5.9 r (A 220 (27.2) (A 43.3)
147D EE 4% 231.8 220.7 2247 247.1 201.8 377.6 395.2 198.6 321.8| r 151.7 239.7 165.2
- 58 73 0 17 37 7 P 3 5 3 T T
- 3005 FIAIi 25) 2.8) 2.8) 3.7 3.1) (5.4) 2.6) (4.3) ©.1 r (4.5) (1.6) (1.4)
300 ML E 713 545 412 370 310 30 21 25 16 23 18 28
A 11,0007 [ (31.0) (32.0) (29.1) (30.9) (30.3) (40.5) (27.3) (36.2) (29.1)] r (34.3) (28.1) (38.4)
4 (1,000 5921 F 1,447 1,039 905 724 630 35 18 39 32T 39 13 13
1] 15,0005 1 5l (62.9) (61.0) (64.0) (60.4) (61.5) (47.3) (62.3) (56.5) (58.2)| r (58.2) (67.2) (58.9)
¢ [5,000 5 TIELE 71 63 53 49 46 3 5 I - I 2 I
¥ [BHEMLLT (3.1) (3.7 (3.7 (4.1) (4.5) (4.1) (6.5) (1.4) (-) (1.5) (3.1) (1.4)
S 10 8 ] 11 6 2 1 1 2 1 - -
Sl (0.4) (0.5) (0.3) (0.9) (0.6) 2.7 (1.3) (1.4) (3.6) (1.5) (-) (=)
e 20 13 16 0 7] - - T = = i -
ERCER TR ©7) 06) (10) ©7) 03) (-) (-) (1.3) (-) (-) (1.3) (-)
o Y] 37 20 17 16 3 3 1 = 2 1 2
BLEESSEEEN (15) (18) (12) (12) (14) 3.5) 3.2) (1.3) (-) 2.6) (1.3) 2.5)
e 1,580 1,088 843 756 688 53 56 15 12 50 13 13
oL (57.7) (53.1) (50.3) (54.0) (58.2) (61.6) (60.2) (56.3) 62.7)] r (65.8) (57.3) (53.1)
ey 336 298 262 188 137 10 11 2 9 7 2 7
A * RS (12.3) (14.5) (15.6) (13.4) (11.6) (11.6) (11.8) (15.0) (13.4)| r (5.3) (16.0) (4.9)
A 148 107 89 67 56 7] 2 2 6 3 = 6
?CE e (5.4) (5.2) (5.3) (4.8 4.7 4.7 (2.2) (2.5) (9.0 (3.9) (=) (7.4)
P e . 35 25 26 20 12 = - 2 - - = 2
Yo | PR SABIEE DB N (13) (1.2) (156) (1.4) (1.0) (-) (-) 2.5) (-) (-) (-) 2.5)
A 26 16 13 14 5 = - - = - I 2
Rl 09) 08) 08) (10) 0.4) (-) (-) (-) (-) (-) (1.3) 2.5)
— 46 45 48 31 28 1 2 2 1 5 2 2
RIS (.7 (2.2) (2.9) (2.2) (2.4) (1.2) (2.2) (2.5) (1.5 r (6.6) (2.7) (2.5)
Zoft 507 420 359 297 237 15 19 15 9 r 12 15 20
(18.5) (20.5) (21.4) (21.2) (20.0) (17.4) (20.4) (18.8) (13.4)| r (15.8) (20.0) (24.7)
W s 543 750 374 324 296 13 23 18 19 18 5 23
= (23.6) (26.4) (26.4) (27.0) (28.9) (17.6) (29.9) (26.1) (34.5)| r (26.9) (23.4) (31.5)
P 355 294 266 241 234 18 20 4 8 18 12 12
1 oe (15.4) (17.3) (18.8) (20.1) (22.9) (24.3) (26.0) (20.3) (14.5)| r (26.9) (18.8) (16.4)
N 317 244 210 151 133 7 9 13 2 16 10 7
s e (13.8) (14.3) (14.9) (12.6) (13.0) 9.5) (11.7) (18.8) (21.8)| r (23.9) (15.6) (9.6)
— 685 7 331 302 201 18 11 8 2/ r 6 19 18
W x (29.8) (24.5) (23.4) (25.2) (19.6) (24.3) (14.3) (11.6) (21.8)| r (9.0) (29.7) (24.7)
i = 187 125 82 69 78 2 1 9 1 5 1 1
| (8.1) (1.3) (5.8) (5.8) (7.6) (16.2) (5.2) (13.0) (1.8)| r (7.5) (6.3) (5.5)
TRV 10 13 6 5 7 - 1 = I I - -
1 |k TR kPR 0.4) 0.8) (0.4) (0.4) 0.7) (-) (1.3) (-) (1.8) (1.5) () (-)
% P 7 2 2 1 2 - - - - - - -
h 0.3) 0.1) 0.1) 0.1) 0.2) (-) (-) (-) (-) (-) (-) (-)
B 33 23 30 14 17 1 1 1 2 = = 7]
= (1.4) (1.4) (2.1) (1.2) (.7 (1.4) (1.3) (1.4) (3.6) (-) (-) (5.5)
P 128 105 89 56 32 3 3 2 - 2 3 3
TS (5.6) (6.2) (6.3) 4.7) (3.1) (4.1) (3.9) (2.9) (-)|r (3.0) 4.7) (4.1)
Zoft 34 30 24 35 24 2 5 7] = 1 1 2
(15) (1.8) (1.7) (2.9) (2.3) 2.7 (6.5) (5.8) (=) (1.5) (1.6) (2.7)

() BAER - KB - SERLA SR D T Be > () NOERFIE, #ERLLE,




